Oaumnuana «JlomoHocoB» mo mHpOpMaTUKE
2024-2025 y4ebublii 10o/]. 3aKJIIOYUTEJIbHBINA 3Tamn
Pabora ygacTnuka c id 3assku 1364126, norunom inf25f 304

CBOILHbIﬁ NTOTr 110 BCEM 3aJavYaM B HpOBepﬂmmeﬁ cucremMe

RunID Time Username Prob Lang Result Tests Score

362 3:58:13 inf25f_304 1 g++ Partial solution 18 56
340 3:53:46 inf25f_304 3 g++ OK 23 100

286 3:40:00 inf25f_304 2 python3 0K 28 100

261 3:28:17 inf25f_304 4 python3 Partial solution O O
257 3:25:30 inf25f_304 5 g++ Partial solution 2 10
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IToceinka 1o 3amaye 1

[1] #include <bits/stdc++.h>

[2] #pragma GCC optimize("Ofast,unroll-loops,03")
[3] #define vl vector<long long>

[4] #define wvl vector<vector<long long>>
[5] #define pl pair<long long, long long>
[6] #define F first

[7] #define S second

[8] #define all(v) v.begin(), v.end()

[9] #define pb push_back

[16] #define rep(i, a, b) for (long long i = a; i < b; ++i)
[11]

[12] typedef long long 11;

[13] typedef long double 1d;

[14] using namespace std;

[15] const 11 INF = 1el8, MOD = 1le9 + 7;
[16]

[17]111 a, b, res = INF;

[18] vl elems, p;

[19] 11 was[le88801];

[20]

[21] void (11 k, 11 x) {

[22] if (x ==b) {

[23] if (res < p.size()) return;
[24] res = p.size();

[25] elems.clear();

[26] for (11 elem : p) elems.pb(elem);
[27] return;

[28] }

[29] if (x > 1000000 || k >= was[x] || k > 10000) {
[30] return;

[31] }

[32] was[x] = k;

[33] p.pb(2 * x);

[34] flk +1, 2 * x);

[35] p.pop_back();

[36] if (x % 2) {

[37] p.pb(3 * x + 1);

[38] flk +1, 3 % x + 1);

[39] p.pop_back();

[48] 1 else {

[41] p-pb(x / 2);

[42] f(k +1, x / 2);

[43] p.pop_back();

[44] if (x %3 ==1) {

[45] p.pb((x - 1) / 3);

[46] flk +1, (x - 1) / 3);
[47] p.pop_back();

[48] }

[42] }

[se]}

[51] int main() {

[52] ios_base::sync_with_stdio(0);
[53] cin.tie(@);

[54] //freopen("input", "r", stdin);
[55] //freopen("output™, "w", stdout);
[56] rep(3, 0, 1000001) {

[57] was[j] = INF;

[58]

[59] cin »>» a »» b;

[68] if (a == b) {

[B1] cout << 8;

[62] return 8;

[63] }

[64] p-pb(a);

[65] f(e, a);

[66]

[67] if (res == INF) {

[68] cout << -1;

[69] return 8;

[7e] }

[71] cout << res - 1 << "\n";

[72] if (res == INF) {

[73] cout << -1;

[74] } else if (res > 2) {

[75] rep(i, 1, elems.size() - 1) cout << elems[i] << "
[76] }

[77] return 8;

[78]1 ¥
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[1] def make(s):

[21 mp = dict()

[3] mp['~'] = 52

[4] mp['~"] = 184

(5] mp['_'] = 156

[6] for i in range(26):

[7] mp[chr(65 + i)] = i

[8] mp[chr(97 + i)] = 26 + 1
[9] num = @

[1e] s = s[::-1]

[11] st =1

[12] i=

[13] while i < len(s):

[14] if s[i] in "M~ "

[15] num += st * (mp[s[i]] + mp[s[i + 1]])
[16] i 4= 2

[17] else:

[18] num += st * mp[s[i]]
[19] ie=1

[20] st *= 52

[21] return num

[22]

[23]

[24] n = int(input())

[25]a =[]

[26] for i in range(n):

[27] a.append(make(input())})

[28]

[29] for i in range(8, n - 1):

[3@] for j in range(i + 1, n):

[31] if a[i] < a[j]:

[32] a[il, a[j] = al[il, elil]
[33] for k in range(1l, n):
[34] if a[k] >= a[k - 1]:
[35] break

[36] else:

[37] print(i + 1, § + 1)
[38] break

[39] a[i], a[3] = a[]], alil
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[1] #include <bits/stdc++.h>

[2] #pragma GCC optimize("Ofast,unroll-loops,03")

[3] #define vl vector<long long>

[4] #define wvl vector<vector<long long>>

[5] #define pl pair<long long, long long>

[6] #define F first

[7] #define S second

[8] #define all(v) v.begin(), v.end()

[9] #define pb push_back

[18] #define rep(i, a, b) for (long long i = a; i < b; ++i)
[11]

[12] typedef long long 11;

[13] typedef long double 1d;

[14] using namespace std;

[15] const 11 INF = 1e18, MOD = 1e9 + 7;

[16]

[17]111 n, t, m, ans =@, ca =0, cr =1, res =8, u, v, d;
[18] vl p, cnt, best;

[19] wvl g;

[2e]

[21] void (11 v, 11 tm, 11 k) {

[22] if (tm > t || k »= 4 * n) return;
[23] if (v == 1) {

[24] 11 § = 1;

[25] while (j <= n & cnt[j] == best[j]) j++;
[26] if (res » ans || (res == ans 8& (cr < ca || (j <= n && cnt[j] == 1))))
[27] ans = res;

[28] ca = cr;

[29] rep(i, 1, n + 1) best[i] = ent[i];
[3e] }

[31] }

[32] rep(i, 1, n + 1) {

[33] if (i == v) continue;

[34] if (ent[i] == @) {

[35] cnt[i]++;

[36] res += p[i];

[37] cr++;

[38] f(i, tm + g[il[v], k + 1);
[39] res -= p[i];

[48] cr--;

[41] ent[i]--;

[42] } else {

[43] cnt[i]++;

[44] (i, tm + g[illvl, k + 1);
[45] ent[i]--;

[46] L

[47] ¥

[48] }

[49]

[58] int main() {

[51] ios_base::sync_with_stdio(@);
[52] cin.tie(B);

[53] /{freopen("input", "r", stdin);
[54] /{freopen("output”, "w", stdout);
[55] cin >> n >> t >> m;

[56] p.resize(n + 1);

[57] rep(i, 1, n + 1) cin »>»> p[i];
[58] g.resize(n + 1);

[59] rep(i, 1, n + 1) {

[e@] gl[il].resize(n + 1);

[61] rep(j, 1, n + 1) {

[62] cin >> g[i][31;

[63] }

[64] T

[65] rep(i, @, m) {

[66] cin > u »» v »> d;

[67] if (d »>= g[u][v]) continue;
[68] glullv] = d;

[62] glv][ul = d;

[7e]

[71] cnt.resize(n + 1, @); best.resize(n + 1, @);
[72] cnt[1] = 1;

[73] res = p[1];

[74] f(1, e, 1);

[75] cout << ca << "\n";

[76] 11 f1 = o;

[771 rep(i, 1, n + 1) {

[78] if (best[i]) {

[79] if (fl) cout << ™ "

[88] cout << 1

[81] fl = 1;

[82] }

[83] }

[84] return 9;

[851}
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[1] s = input()

[3] ans = ['2H2+02=2H20', 'Si+02=5i02", 'C+02=C02', '(He[C2(02Mg)4(02Fe)2]2N3)2H3+4F=(He(C2(02Mg)4(02Fe)2)2N3)2H3F4" ]

[2]k - @
[4] while s:

[5] print(ans[k])
[6] k +=1

[71 s = input()



ITocelnka mmo 3amade 5
#include <bits/stdc++.h>

[1]
[2]
[3]
[4]
[5]
[6]
[7]
(8]
[e]
(18]
[11]
[12]
[13]

#pragma
#define
#define
#define
#define
#define
#define
#define
#define

typedef
typedef

GCC optimize("Ofast,unroll-loops,03")

vl vector<long long>

vvl vector<vector<long long>>

pl pair<long long, long long>

F first

S second

all(v) v.begin(), v.end()

pb push_back

rep(i, a, b) for (long long i = a; i < b;

long long 11;
long double 1d;

[14] using namespace std;
[15] const 11 INF = 1el8, MOD = 1e9 + 7;

[16]

[17]11 n, m, k, 5, d, b, &, c, t;
[18] vector<pl> p, st;

[19]

vl h;

[20] 11 r[8@0];

[21]

[22] int main() {
ios_base::sync_with_stdio(@);

[23]
[24]
[25]
[26]
[27]
[28]
[29]
[3e]
[31]
[32]
[33]
[34]
[35]
[36]
[37]
[38]
[39]
[4e]
[41]
[42]
[43]
[44]
[45]
[46]
[47]
[48]
[49]
[5e]
[51]
[52]
[53]
[54]
[55]
[56]
[57]
[58]
[59]
[6@]
[61]
[62]
[63]
[64]
[65]
[66]
[67]
[68]
[69]
[7e]
[71]

cin.

tie(0);

cout.tie(@);
//freopen("input", "r", stdin);
//freopen("output", "w", stdout);

cin

>>m >>»n >»> k;

p.resize(n + 1, {-1, -1});
h.resize(n + 1, 8);
rep(i, @, n - 1} {

cin »> s >» d »> b;
p[d] = {s, b};
st.pb({s, d});

sort(all(st));

for

(auto [s, d] : st) {
h[d] = h[s] + 1;

FEp(W, a, k) {

}

cin »*» a »> b;
rep(i, 8, m) r[i] = 1;
while (h[a] > h[b]) {
r[pla].5] = ©;
a = plal.F;
}
while (h[b] > h[a]) {
r[p[b].5] = @;
b = p[bl.F;

1
while (a != b) {
rlpla]l.s] = 8;
a = p[al.F;
r[p[b].5] = 8;
b = p[bl.F;
}
c=8; t=2;
rep(i, @, m) {
if (!r[i]) continue;
if (i ==2 || r[i - 1] == 8) {
c =1;
1 else {
c+;
if (¢ > t) t = ¢;
}

cout << t << "\n";

return @;
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